Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.

0,0008 0,008 0,08 0,8

94

97

24

62

99

0,007 0,0007 0,7 0,07

28

86

87

55

0,007 0,7 0,0007 0,07

93

10

11

95

67

0,07 0,0007 0,007 0,7

45

41

77

93
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0008 0,008 0,08 0,8
94 0,0752 0,752 7,52 75,2
97 0,0776 0,776 7,76 77,6
24 0,0192 0,192 1,92 19,2
62 0,0496 0,496 4,96 49,6
99 0,0792 0,792 7,92 79,2
X 0,007 0,0007 0,7 0,07
28 0,196 0,0196 19,6 1,96
86 0,602 0,0602 60,2 6,02
87 0,609 0,0609 60,9 6,09
55 0,385 0,0385 38,5 3,85
6 0,042 0,0042 4,2 0,42
X 0,007 0,7 0,0007 0,07
93 0,651 65,1 0,0651 6,51
10 0,07 7 0,007 0,7
11 0,077 7,7 0,0077 0,77
95 0,665 66,5 0,0665 6,65
67 0,469 46,9 0,0469 4,69
X 0,07 0,0007 0,007 0,7
45 3,15 0,0315 0,315 31,5
41 2,87 0,0287 0,287 28,7
77 5,39 0,0539 0,539 53,9
93 6,51 0,0651 0,651 65,1
3 0,21 0,0021 0,021 2,1
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